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Review Sheet – Midterm Exam 1
This handout is meant to be just an outline of the material covered for the first midterm. All the topics that are highlighted here should be in your notebook and they are equally important. In order to do well on the exam you will need to review your lecture notes, your section notes, and the appropriate material from the book. In addition, it is very important  to work practice problems. This handout should help you in not forgetting any concept helpful for the exam. Good luck.   

 

Background:

- What is Economics?

- Principles of economics 

- Definition and Overview

- Macroeconomics vs. Microeconomics

- Positive versus Normative Economics 

(Note): Positive statements can be shown to be true or proven to be false while normative statements are not testable.  

- Plotting functions

- Finding the slope and intercept of a linear function 

- Solving two equations in two unknowns

- Data Types

Allocation of Resources:

- Scarcity

- Opportunity cost

(Note): Production or consumption forgone when we make decisions to produce or consume something else.

- Production possibility frontier

- Feasible, unfeasible, inefficient and efficient zones

- Interpreting the slope of the PPF

(Note): The absolute value of the slope of the PPF is the opportunity cost of the good represented on the x–axis in terms of the good on the y–axis

- The law of increasing opportunity cost (causes and implications) 

- Bowed outward PPF

- Things that shift the PPF out

- Absolute and comparative advantage

(Note). Absolute advantage is related to productivity while comparative
advantage is related to opportunity cost. 

- The economic question (resource allocation) 

- Specialization and Trade

(Note): Specialization is related to the opportunity cost of production for each country. 
- Economics systems (command economies vs. market economies)

Demand and Supply:

- Demand versus quantity demanded

- Determinants of demand (income, prices of related goods, expectations, tastes, number of buyers)

- Shifts of the demand curve versus movements along the demand curve

(Note). Only changes in the own price of the good cause movements along the demand curve. 

- The law of demand

- Market demand as horizontal summation of the individual demand curves

- Normal versus inferior goods

(Note). These concepts are related to income elasticity. Normal goods are consumed at greater quantities as income rises
- Complements versus substitutes

(Note). These concepts are related to cross elasticity. When two goods are complements (substitutes) the demand of one the goods shifts to the left (right) if the price of the other good rises. 

- Supply versus quantity supplied

- Shifts of the supply curve versus movements along the supply curve

 -Determinants of supply (input prices, technology, number of sellers, expectations)

(Note). Do not confuse determinants of  supply with determinant of demand. You should also know how the supply curve or demand curve shifts with a change in one of the determinants of supply or demand.
- The law of supply

- Market supply as horizontal summation of individual supply curves

Market Equilibrium

- Finding the equilibrium (solving from P, Q from two equations) 

(Note). At the equilibrium price the amount producers want to supply is just equal to the amount the consumers want to purchase.
- Excess demand (shortage)

- Excess supply (surplus)

- Price ceiling and price floor

- subsidy the government enforces this price by paying the difference between the market price and the guaranteed price to producers for each unit they sell.

- Consumer surplus and producer surplus (calculate + identify graphically)

(Note). Consumer surplus corresponds to the area between the demand curve, and the equilibrium price, while producer surplus corresponds to the area above the supply curve, and below the equilibrium price.

Intervention in Markets

The government may choose to intervene in markets in order to produce some desired outcome. The government often institutes programs to keep prices artificially above or below what they would be in equilibrium. These programs often result in outcomes other than that which was intended. Below is a brief description of some of the ways the government might intervene in markets. The majority of these programs are applied to agricultural markets. 

Price ceiling – a price set by the government that cannot be exceeded. If the price ceiling is set above the equilibrium price then the program has no effect on the market. If the price ceiling is set below the equilibrium price then there will be excess demand. Consumers will demand more of the good at the price ceiling price than producers want to supply.

Price floor – a price set by the government that cannot be undercut. If the price floor is set below the equilibrium price, then it has no effect on the market. If the price floor is set above the equilibrium price, then there will be excess supply. Producers will want to supply more to the market than consumers want to purchase at the price floor price.  

Price support – a price set by that government that it guarantees by offering to purchase an unlimited quantity of the good at the specified price. If the price support is set below the equilibrium price the market is unaffected. If the price support is set above the market price then producers supply more to the market than consumers want to purchase. The government purchases all of the excess supply at the specified price.  

Price guarantee program or subsidy program – the government guarantees a price producers will receive for each unit sold in the market. The government enforces this price by paying the difference between the market price and the guaranteed price to producers for each unit they sell.

Excise tax: effects of taxes, equilibrium after the tax, tax revenue, etc. 

- Consumer tax incidence and Producer tax incidence (calculate + identify graphically)

(Note). Do not confuse the legal incidence of a tax with the economic incidence of a tax. Which curve shifts is irrelevant for the economic incidence of a tax. Remember that the incidence is related to elasticity. The consumer tax incidence can be calculated as the difference between the equilibrium price with tax and the equilibrium price before the tax multiplied by the equilibrium quantity after the tax. Consumer tax incidence = (PET - PE) QET 

- Deadweight loss

(Note). It is the surplus that is lost due to the implementation of the tax. In a graph, this is a triangle. 

Deadweight Loss and the Size of the Tax

International Trade : The following topics are important.

· Equilibrium without trade.

· The concept of World Price.
· The gains and losses from trade for an exporting country and for an importing country. This gain from trade takes the form of an increase in the domestic total surplus of an importing country. You should be able to recognise this increase in the diagram and also calculate its magnitude.

· The effects of tariffs and import quotas. A tariff reduces domestic consumer welfare and increases domestic producer surplus and government revenue. A quota reduces domestic consumer welfare and increases domestic producer surplus and the surplus of the license-holder. In both cases, the reduction in domestic consumer surplus is greater than the combined increase in the other two components. So a tariff or a quota reduces total welfare in the domestic economy. This reduction is called the deadweight loss. Recognising and calculating this deadweight loss is important.

· The arguments for restricting trade and how those arguments may be countered by using economic logic.

Elasticity

Elasticity – measures the responsiveness of one variable to changes in another related variable using percentage changes.    

Price elasticity of demand – measures the percentage change in the quantity demanded for a percentage change in price. It is a negative number since as price increases, quantity demanded decreases.

Arc elasticity of demand indicates the percentage change in demand for a 1 percent change in the price between two points on the demand curve. 

An expression for the elasticity of demand is

D =  %QD 

           %P


(  Q2  –  Q1  )
where %QD = the percentage change in demand =
  ( Q2 + Q1 )
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(  P2  –  P1  )
and %P = the percentage change in price =  
  ( P2 + P1 )
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for two points ( Q1, P1 ) and ( Q2, P2 ) on the demand curve.

Through some simple algebraic manipulation the formula reduces to

D =  
( Q2 – Q1 )  ( P2 + P1 )

( Q2 + Q1 )  ( P2 – P1 )

This formula is for the arc elasticity of demand. 

For linear demand curves we can also calculate the elasticity of demand for a single point or the point elasticity of demand using the formula

D =  
 (1/Slope)( P / Q )

We define three special cases of elasticity. We say demand as elastic, inelastic, or describe it as having unit elasticity depending on the size of  D.

Elastic – when in absolute value terms, the percentage change in quantity demanded is greater than the percentage change in the price.   The value of the elasticity of demand in this case is less than –1:   D < -1. A horizontal demand curve is perfectly elastic.

Inelastic – when in absolute value terms, the percentage change in quantity demanded is smaller than the percentage change in the price.  The value of the elasticity of demand in this case is between 0 and –1:   0 > D > -1. A vertical demand curve is perfectly inelastic.

Unit Elastic – when in absolute value terms, the percentage change in quantity demanded is equal to the percentage change in the price, D = -1.

The Relationship between Elasticity and Total Revenue: Refer to your notes and book.
Determinants of the elasticity of demand

1. Substitutability of other goods


a. Narrowness of the definition of the good


b. Availability of substitutes depends on tastes


c. Time horizon

2. Importance of the item in the budget

Cross-Price Elasticity:  this is the percentage change in the quantity demanded of good A divided by the percentage change in the price of good B.  When this measure is positive, this indicates that goods A and B are substitutes.  When this measure is negative, this indicates that goods A and B are complements. 

Income Elasticity:  this is the percentage change in the quantity demanded of good A divided by the percentage change in income.  When this measure is negative, this indicates that good A is an inferior good.  When this measure is positive, this indicates that good A is a normal good.

Supply Elasticity:  this is the percentage change in the quantity supplied divided by the percentage change in the price of the good.
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